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B.Com (PART IIl) EXAMINATION, 2018

GROUP C : APPLIED BUSINESS ECONOMICS GROUP
o M. M. : 100

* Paper 1 (i) : Financial Management

Note : Attempt any three questions from Section-A
7uestions) out of five questions and any five questions from Section-

(Long Answer Type
B (Short

Answer Type Questions) ut of eight questions. .
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-. 1. What do you understand by financial planning ? Explain its importance and
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2. Define ‘Cost of Capital’. Explain how it is calculated ? Yoft @t ArTa Hl
aftnfia i | sa Tor fRE weR S 2

3. What is meant by Working Capital ? How would you determine the working
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4. Calculate operating leverage, financial leverage and combincd leverage

from the following data : Fretfefian sitwel } witamer, faxig wd

TR ST ' '
Scles : 40,000 units @ Rs. 5 p.u. e : 40,000 3, . 50 I T
Variable Cost per unit @ Rs. 2 p.u. ofedsia @ : 5. 2 9fd 3R
Fixed Cost Rs. 90,000. fer @A : 3. 90,000.
5% Debentures of Rs. 1,00,000. 5% 7 99 9. 1,00,000.

S. Given that : e 8—
() Eaming per Share Rs. 10 9f¥ 3791 31™ . 10.

(ii) Capitalisation Rate 10%. 4501 2T 10%.
(1ii) Internal Rate of Return from Retained Earnings 15%. The Compnay 1s

considering a payout of 25% and 50% which of these would maximise the wealth of
| shareholders according to the GORDON’S formula. SRauIfiE 318 | 3l vag
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1. What is meant by Financial Management ? forefla yav @ /1 emmmg & 2

2. What do you m=an by Financial Function ? fae %/ Q 3y a1 smvg & 2
3. Describe the Woiter’s Model and Gordon’s Model regarding the dividend

Policy. i Hifd & T3 # It ieet w6 MEA Hige =) GHART

4. What is Capital Budgeting ? Explain the present value Method of evaluation

of investments. Yt 91z &1 @ ? fafan geaiss #t advm 79 i = gngmE)

3. What is operating cycle method of estimating Working Capital ? Sri¥iiel

9t F & % v 9% G s 2

6. Explain clearly the meaning of Inventory Managemert. Discuss its

|objectivas. T T F A% FATC) I9F 3RW B Frdea Hifsne
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7. A Factory vses Rs. 30,000 Worth of material per year wh‘ich costs Rs. 1-25

]

! .

iper unit. Each order cost Rs. 25 ¢ arrvi A

P 0st Xs. 25 and carrying cost is 6% per year of the average

jinvestory. Find the E 0.Q. aud total inventory cost. T @M Wiy Gy wwy m
. 30,000 TP WA FAM e ¥ FoRwe o €. 125 fe o ¥ woie 3%2 %ﬂ
grm‘a. 25 & T Fiaum. @R 69: 5fa O 3ed W ¥ 1 E.0.Q e F A,
o e Q.
5. What is “Trading on Equity’ ? Explain its effects on a Company. "H¥dl W
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